4] 6x% - 7x% + 17x - 32 3x - 2 W B2 0(x), YHAE R
ot &, 0(1) + R 9] g+ Fstolet,

D L
=%



(x) =x* -2 +5x-62 x-2, x- 12 YFAES

22y a, b2t & W, a+ b 9] F2?

@ -2 ® -16 @ 4

wh <]



3. AAF N = prg = 2RIeESE o, & oo Mrs (n+
) (m+1)(I+1)°]ch o] off, 383 + 3382 +3-38 + 19| &F9] oF49]
i

@D 974 @ 1274 ® 167 @ 247 ® 327



o
S
ol
o8

A

golch. &4

]
=

5

2x% +2x — 49} 4x® — 40 &

Al
2

7beBr qEAi7t oy,



T x

o

o] g}At AJ=sk

@® 1023

Stof (14+2x-x%)10 = ag+ayx+agx®+--- - - +az0x
w, 2ag +ay +az + -+ + ago 2] F2?

@ 1024 ® 1025 @ 2046 ® 2050



6. oA f(0)E LAY ax + bla # 0) 22 RIS o] H-2 Q(x),
U™z Rolat & uf,
)Cf(X)% ax + b= L]-T,L:— ]4—{]11]%_ -?-ﬁ]—?ﬂ()

® R @ aR 3 bR @_SR ©§



7.

a*b*(a - b) + b*c2(b - ¢) + *a*(c—a) &
< A7k opd A7

D a-b @ b-c

@ a+b+c ® ab+bc + ca

o
A8

2ol ok

® c—-a



Ml X a, b, c7V a4+ b% + 3 = 3abcE TEANZL W oa, b, cE Al

Volgp @k ol W, at bt el

Mo sk 47rgel Hole

ghe Fotolet.

D L
=¥



H 25t ALt 1< F o]2thstAl A, Bof Ulste] 4, B2
AP ELF5E (A, B), A, B HAZHSE (A, B2 obAt o4
A, B7}

(A+B, A-B)=2x-3,[A+B, A-B]=2x> +x-6

S WET o), 24, B] = 07 22 o5 2te 227

@ 2x* +5x% ~ 6x -9 @ x*4+4x2-2x-7

® x> -3x2+5x-1 @ 3x3—x2+2x—1

® -3 +2%2-5x+7



